INFEZLF100m

IEAL BIrES At = B % A Btz JEE
5 1 | Bk #pEIr. AC L 1ED 3 19”7 08| -0.9
4 | 2 | B #PEIr. AC ZH HET 3 197 44 0.9
3 3 | BiR #MpEIr. AC S BT 1 217 16| -0.9
6 | 4 | BIR #rEJr. AC FHE B 1 217 42| -0.9
1
2
7
8
4 1 Bk EEIrELr ST AHHEH EFE 6 157 04 -1.5
6 | 2 | BiR #FEIr. AC RE £EF 6 15” 06| -1.5
3 3 | BiR #MpEIr. AC TH B 6 16” 07| -1.5
2 | 4 | BiR #FEIr. AC B RE 6 177 03] -1.5
1 Bk #pEIr. AC HiE X 6 DNS
5 SR EfIr. Ly ST LN I g 6 DNS
7
8




/N F100m

b=y | IEAL % i B B % A Btz 33
6 1 | Bif LiEE R 57| AE EBUKER 6 177 09  -2.0
4 | 2 | B #PEIr. AC ST Ak 3 177 55 -2.0
2 | 3 | BiR LiEE Ly 5T Fifs Rt 4 18” 15  -2.0
3 | 4| BiR LR ST | BE BURER 4 197 33 -2.0
5 1 5 | BiR #pEIr. AC B B 1 217 911 -2.0
1

7

8

4 1 | Bk #pEIr. AC B ARE 6 16” 23|  -0.9
5 2 iR B, [ R L FRAKER 5 16” 33| -0.9
31 3 | BiR #MpEIr. AC YatE P —BH 5 177 41 -0.9
2 | 4| BIR Mix TC W% B 4 18” 14[ 0.9
6 5 BiR EfEIrL LT WA ZHE 3 18” 37 0.9
1 6 | BiR ARRNERL B BEK 3 197 48 0.9
7




—fi% - B - FFELF100n

V=7 | EAL T Al = K # FH FOE% JEE
6 1 BiR 2| RERAZER Al BH 1 14” 96 -1.1
4 2 BiR 627|FATLEE — HERR L BEIE! 1 157 05| -1.1
5 3 SR 3147\ RER AR RN X<5 1 157 09 -1.1
3 4 BiR 626\ FATLEE — HRARR Fils EX 1 157 84| -1.1
2 5 BiR S| RERAZER FIL 225 1 16”7 25 -1.1
7 6 SR 625\ MMTLEE A | ZE  FAITE 1 177 56|  -1.1
1 SR 3110[ RERHEARR B FBR 1 DNS
8 iR 3144\ KRERHZERR /S KAE 2 DNS
6 1 SR 1219| ErE T FER HE % 137 79 -1.4
5 2 SR 3140 KERH2ERR R EIH 2 137 82|  -1.4
3 3 SR 3149 KRB B EE 2 147 69| -1.4
2 4 SR 3125\ KRB NE ME 2 147 711 -1.4
1 5 BiR BLO|MATIEE — 2 | MEE T &» 2 147 81| -1.4
7 6 SR 3141 KRERHZERR R =1 2 157 15|  -1.4
8 7 SR 3142\ RERHZHARR AT BE 2 157 42| -1.4
4 SR 3126\ RERH2ERR i B 3 DNS| -1.4




—fi - B - FEEF100n

b=y | MBAL PR At = K & EfiE S JEH
2 1 SR 3115| REHZER Fie ok 14” 51|  -1.4
5 2 Bk 3120\ RERHFFRK B B 15” 30 -1.4
4 3 | BiR 3123| RERHHRR INFE R 15”7 50 -1.4
7 4 | BB 631|FATLEE — R BR KA 15” 66| -1.4
6 5 Bk L9 REHZFR =VE B 167 31 -1.4
3 SR 3118| KB AR iR KA DNS

1

8

4 1 SR 633|FATLEE — HH AR FRR It 13”7 14 -1.1
5 2 | BiR BINT| REFFR AR HLE 13”7 36| -1.1
1 3 | BiR 3116| R = 14”7 66| -1.1
7 4 Bk 1223| Ema i Bt T#& HAH 14” 85 -1.1
2 Bk 101 RERHZER aiE B DNS

3 SR 3105| REHFR R & DNS

6 SR 3121 RERHAR 7%= DNS

8

4 1 BiR 1177|Mix TC B EM 117 92 -0.7
5 2 Bk 2| REHFFRK H5 HE 127 30 -0.7
3 3 | BiR 31| RBRAFHRR RE & 127 38|  -0.7
6 4 Bk 1238| Ema i Bt R KR 127 51 -0.7
7 5 | BiR 1239| Er ke HH L+ 137 90 -0.7
2 SR 3102| KEEAHAR IiE  IERE DNS

1

8

4 1 iR 1146|BA2R—Y 25T PR i 117 071 -0.9
6 2 | BiR 232/ A R EEER IR MEE 117 28] -0.9
5 3 Bk 1363| i E T B HE &N 117 53 -0.9
2 4 Bk 114048 EA IR 117 57 -0.9
1 5 | BiR T60| KA ERR g BN 117 82  -0.9
3 6 Bk 1228| Era T FE FER Ao 127 00 -0.9
7 T | BiR 3106| R =iE BX 12”7 25 -0.9
8 8 Bk 3110[ KRB hnEE gEA 127 28 -0.9




